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1. Anew silver mine with substantial reserves is discovered This discovery implies that an increase in
the demand for silver will: ‘
A) increase the long run price of silver more than the short run price of silver.
B) increase the long run price of silver less than the short run price of silver.
C) ensure the long run price of silver and short run price of silver increase by the same amount.
D) ensure that the short run price of silver fall.
E) ensure that the short run price of silver remains unchanged.
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D) They would oppose the proposal,
despite the fact that it would decrease
their expenditures on drug

2. An important determinant of the amount of
grains harvested next year by Somalian

farmers is the amount of seeds planted this
year. Given that President Chen has
guaranteed to donate nine hundred tons of
grain next year, this year the Somalian farmers
will:
A) plant more seeds as the food aid
establishes a minimum price for grain.

enforcement relative to the matching
grant program.

E) They would be indifferent to the
proposal, since it would not affect
expenditures one way or the other.

4, Pockymon derives utility from consuming
B) plant more seeds as the farmers’ iced tea and lemonade. Having spent all of

confidence is restored. his money he finds that the marginal utility

C) plant the same amount of seeds as that he receives from iced tea is 16 utils and
they would have without the food aid. the marginal utility he receives from

D) plant less seeds as consumersidemand lemonade is 8 utils. He should:

for grain is completely price elastic.
E) plant less seeds as the price of grain
will be lower with the food-aid.

A) buy more iced tea and less lemonade.
B) buy more lemonade and less iced tea.
€) buy more iced tea and lemonade.

D) buy less iced tea and lemonade.
3. The central government matches NTU’s|drug

enforcement expenditures dollar for dollar

E) none of above is necessarily correct.

5.. The price of good A goes up. As a result
the demand for good B shifts to the left.
From this we can infer that:

Under this program NTU spends $1 million on
drug enforcement ($500,000 from the
University and $500,000 from the
government). Recently, the government has
proposed eliminating this program and
replacing it with a $500,000 lump-sum grant.
How would the deans at NTU view this

A) good A is a normal good.

B) good B is an inferior good.

C) goods A and B are substitutes.
D) goods A and B are complements.
proposal? , E) none of the above. .

A) They would favor the proposal,
because it would increase the
University’s expenditures on drug [ For the next 2 questions, consider the following
information: ]

As arisk-neutral president and CEO of The
despite the fact that it would decrease Rocket Inc., Natasha must decide on some risky
their expenditures on drug

enforcement.

B) They would favor the proposal,

alternative investments:
enforcement relative to the matching Project  Profit if Prob. Lossif Prob.
grant program.

C) They would oppose the proposal,

Successful Success Failure Failure

>

$10 5 -$6

because it would increase their ’
B $50 2 -$4 .8

expenditures on drug enforcement.
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C $90 1 -$10 9
D $20 .8 -$50 2
E $15 4 $0 .6

6. Natasha would choose
AYA B) B OC
D)D E)E

7. Natasha
A) is indifferent between projecis D and E
B) prefers project E to project D, but do not
necessarily consider E the best.
C) prefers project E to all other projects.
D) seeks the highest “profit if successful” of all
the projects.
E) seeks the project with the most even.odds.

8. A farmer lives on flat plain next to a river. In
addition to the farm, which is worth $F, the
farmer owns financial assets worth $A. The
river bursts its banks and floods the plain with
probability P, destroying the farm. If the
farmer is risk averse, then the willingness to
pay for flood insurance unambiguously falls
when

A) Fis higher and A is lower.
B) Pislower and F is higher.
C) F & A is higher.

D) Pis lower and A is lower.
E) Ais higher and F is lower.

9. One of the factors contributing to the fact
that labor productivity is higher in Taiwan than
in the Mainland China is
A) Mainland China’s larger stock of
capital.
B) The higher capital/ labor ratio in
Mainland China.
C) The higher capital/labor ratio in
Taiwan
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D) Mainland China’s smaller stock of
- fossil fuels.
E) The fact that much labor in Taiwarix is

in management.

10. What describes the graphical relationship
between average product and marginal
product?

A) Average product cuts marginal product
from above, as the maximum point of
marginal product. '

B) Average product cuts marginal product
from below, as the maximum point of
marginal progduct.

€) Marginal product cuts average prdduct
from above, at the maximum point of
average product.

D) Marginal product cuts average product

- from below, at the maximum point of
average product.

E) Average and marginal product do not
interest.

11, Which of the following statements
demonstrates an understanding of the
importance of sunk costs for decision
making ’

I “Even though I hate my MBA classes,
I can’t quit because I've spent so much
money on tuition.”

II. “To break into the market for soap our
firm needs to spend $10M on creating an
image that is unique to our new product.
When deciding whether to develop the
new soap, we need to take this marketing
cost into account.”

A) Iis troe and II is false.

B) Ilisfalse and Il is true.

C) TandII are both true.

D) Iand I are both false
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12. Which of the following statements
correctly uses opportunity costs in decision
making
L “As my secretary’s time has already
been paid for, this reduces the cost of my
taking on another project.”
11. “Since Ministry of Defense is running
under budget this year, the cost of
ROC3-X Missle Luancher is reduced.”
A) Tis true and IT is false.
B) 1is false and IT is true.
C). 1 and I are both true.
D) 1and I are both false.

13.  If a competitive firm’s marginal cost
always falls as output increase theniits profit
maximizing output.

A) be found where the marginal cost curve
intersects the marginal revente curve.

B) be zero.

C) generate positive economic pfoﬁts.

D) generate positive producer surplus:

E) be found where average variable cost are
minimized.

14. If a competitive firm’s marginal costs always

Increases with output, then at the profit
maximizing output level, producer surplus is
A) zero because marginal costs equal
marginal revenue.
B) zero because price equals marginal
costs.
C) positive because price exceeds average
variable costs.
D) positive because price exceeds average
total costs.
E) positive because revenues are
increasing faster than variable costs.

15. For national security reasons a government

decides that all of its base metal industry

BRE

should not be located in the same
" geographical region, as it presently is. The
government decides to allocate production
quotas to firms in different parts of the
country, but does not restrict in any way the
transactions between consumers and base
metal producers. This scheme is
A) efficient as consumers still buy from
whoever they like.
Bj efficient since producer’s surplus is
equal to consumer’s surplus
C) likely to be inefficient as some of the
industry’s output is not produced by the
firms with the lowest cost
D) likely to be inefficient as the scheme
will require subsidies to work
E) efficient as learning by doing effects
will be strongest in the firms set up in
new geographical regions. 7

16. /Consider the following statements when

answering this question
I. Long waiting lists for kidney
transplants may be caused by new laws
forbidding humans to sell their kidneys.
II. Randomly choosing citizens to serve
in the Army is an efficient mechanism
for selecting soldiers.

"~ A) IandII are true.
B) 1istrue and O is false..
C) Iis false and II is true.
D) Iand II are false.

17. Miaoli County Oil Company is a vertically
integrated firm. It explores for and extracts
¢rude oil. It also refines the crude oil into
gasoline and other products, and sells these
products to consumers. There are many other
firms that extract and sell crude oil so that the
market for crude oil is regarded by Miaoli as
competitive. The internal price that Miaoli Qil
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uses when the crude oil that it extracts is
“sold” to one of its refineries:

A) equals the market price for crude oil.
B) equals the market price for crude oil
less a discount because Acme Oil des not
to profit form itself.

C) is unrelated to the market price of
crude oil.

D)is greater than the marginal cost of

extracting crude oil.

18. Suppose that a tax is imposed on each unit of
the product that NTU Farm produces. Which
curve will shift?

A) marginal product of land

B) marginal product of labor.

C) marginal revenue of the prodiict of labor:

D) the supply of farm workers.

E) all of the above will shift due to the tax on
output.

19.  Rather than charging a single price to:all
customers, a firm charges a higher price to men
and a Jower price 1o women. By engaging in this
practice, the firm:

A). is tfrying to reduce its costs and therefore
increase its profit.

B) is trying to reduce its reported costs but not
its real costs.

C) is attempting to convert producer surplus
into consumer surplus. _

D) is attempting to convert consumer surplus
into producer surplus.
E) both{A) and{C) are correct.

20. The maximum price that a consumer is
willing to pay for each unit bought is the
price
A) market
B) reservation

C) consumer surplus
D) auction

E) choke & ;}f tE]
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A) B2AE 353 20%
B) &35 20%
C) HEn%E 10%
D) g2 & #5318 10%
E) EHARELTR
28. F T B R R
A) Bigd4 % ¥ (frictional unemployment) 2 5 AR B T ERE T H B LRBEH T RFE
B) A #R K ¥ #(natural rate of unemployment) R {5 A EEH TS AR GEREA T HLE
C) &#44 % ¥ (structural unemployment)#y F AR R LA WA R E £ ¥ s T
y- 3% 5]
D) # % 1 % 7% #h(efficiency-wage theories) T A BB T F & B4t
E) ab%Ezk
29. ﬁﬁ A &A% % (Solow growth model)
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B) $83RB Rt RABRKEREED A hRER :
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15 o ZHE B AT RN 8K & (steady state) > BRI E F 28
A) 10%
B) 12.5%
C) 15%
D) 17.5%
E) 20%
3L ALAR  XHUHEBRRAHAM AR RREREE G LEHF B TZF A% FKE(Golden
Rule level of capital) < 35BS B E 2R 52 3 b F e & B 2?2
A) 25% '
B) 30%
C) 35%
D) 40%
'E) 45% ,
32. £ &L k¥ (long run) #2458 #8(short ran) &y & #| A
A) F 32k oy = 4 ik(classical dichotomy)# 43 #8 A% 31 12 K #7386 K A 3
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A) B—EMEeTRBEINGHEHFER
B) A8 EME FHayia B4
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D) A e¢HFH L EMPE
E) st E¥ 3k
38. fg sk — &8 % 2 A E di 4 (Phillips curve) & 7 = 7, -0.4(u-0.07) © 8] A £ % % £ (natural rate
of unemployment) & '
A) 0.4
B) 0.14
C) 0.07
D) 0.028
E) 0.2
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41. %% 3% Bl (Taylor rule)
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